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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1a 3954 0.6 0.5 1 59.5 99.3

1b 3917 0.5 0.5 1 52.8 98.3

1c 3646 0.5 0.7 2 27.1 91.5

2a 3863 2.6 0.9 4 65.3 97

2b 3565 0.3 0.5 1 33.1 89.5

2c 3645 0.8 0.4 1 83 91.5

3 3460 3.1 2.8 8 38.3 86.9

4a 3955 0.8 0.4 1 79.7 99.3

4b 3843 1.3 0.9 2 63 96.5

4c 3868 0.6 0.5 1 61.7 97.1

5a 3832 2.1 1.5 4 52.3 96.2

5b 3107 0.6 1 3 20.5 78

6 3355 0.9 1.3 4 22.6 84.2

7a 3818 0.4 0.6 1 39.8 95.9

7b 3216 0.6 0.9 2 27.6 80.7

8a 3825 2 1.2 3 65.7 96

8b 2976 0.4 1 3 13.8 74.7

8c 2159 0.3 0.7 2 12.7 54.2

9a 2931 0 0.2 1 3.8 73.6

9bi 2527 0.1 0.4 3 4.9 63.4

9bii 2384 0.4 0.5 1 35.7 59.9

10a 3812 0.7 0.5 1 69.3 95.7

10b 3087 1 1.6 4 25.1 77.5

11ai 3404 1.3 0.8 2 62.9 85.5

11aii 3097 1.2 1.3 3 41.6 77.8

11bi 3127 0.6 0.5 1 61.3 78.5

11bii 3291 0.3 0.5 1 33.1 82.6

12 3357 1.8 1.4 4 44.1 84.3
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GCSE Mathematics - Numeracy Unit 1 Foundation 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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WJEC GCSE MATHEMATICS - NUMERACY (NEW) 
 


SUMMER 2018 MARK SCHEME 
 


2(a) BBC1=10  
BBC2=5 
ITV1=12  
S4C=6 
Channel 5=7  
 
 
 
Five vertical lines at correct heights.  
(intention of correct height eg line drawn 
for 10 but not quite at 10) 


B2 
 
 
 


 
 
 
 


B2 
 
 


 


May be seen or implied from their vertical 
line diagram (or other diagram/graph) or in 
part (b)) 
 
Award B1 for any three or four correct 
frequencies seen or implied. 
 
 
FT their frequencies throughout if seen. If 
frequencies not seen FT their tallies. 
 
If B2 not awarded 
Award B1 for any 3 or 4 correct vertical 
lines. (May imply previous B1 or B2) 
OR 
Award B1 for any 3 or 4 heights correct in 
a bar chart or other diagram, including a 
scatter diagram.  
 
Note: If vertical line diagram drawn with no 
frequencies or tallies seen but one or two 
heights incorrect as evidence of one error 
in collecting data award B1 B2. 
 
If no marks awarded, award B1 for all 5 
correct tallies. 
 












Sticky Note

This candidate has 3 of the 5 frequencies correct in their table so can be awarded B1 but then the candidate does not draw a vertical line diagram. Only B1 can be awarded for the diagram as all their frequencies have been plotted at the correct heights.












Sticky Note

This candidate did not complete a tally or frequency table. They just counted individual channels in the given table. A total of 3 marks can be awarded as all the frequencies are correct and have been plotted at the correct heights. however, a bar chart has been drawn rather than a vertical line diagram.












Sticky Note

This candidate did not complete a tally or frequency table but has a completely correct vertical line diagram so can be awarded all 4 marks.
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2.	 Jane carried out a survey.
	 She asked 40 people to choose their favourite TV channel.
	 Their answers are shown below.


	 (a)	 Draw a vertical line diagram to display Jane’s data.
		  Use the square grid on the opposite page.	 [4]


	


	


	


	


	


	


	


	


	


BBC1 S4C ITV 1 BBC1 Channel 5


ITV 1 BBC2 Channel 5 ITV 1 BBC1


Channel 5 BBC1 Channel 5 ITV 1 S4C


S4C ITV 1 BBC2 BBC1 Channel 5


BBC2 BBC2 ITV 1 ITV 1 BBC1


BBC2 ITV 1 S4C BBC1 ITV 1


BBC1 S4C ITV 1 ITV 1 BBC1


ITV 1 Channel 5 BBC1 S4C Channel 5
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3. (Area of plot A:) 
(Number of squares:) 
Evidence of counting squares inside 
shape  
Answer in range 9 – 13 
(Area:) ‘Their number of squares 
counted inside’ × 100 (m


2
) evaluated 


correctly 
 
 
(Area of plot B:) 
40 × 22 
880 (m


2
) 


 
 
 
Plot stated with reason given 
Eg ‘Plot B as both areas are about 900 
(m


2
) but plot B is easier to work with as 


it is a rectangle.’ 
‘Plot A as the area is bigger.’ 
 
Organisation and communication 
 
 
 
 
 
 
 
 
 
 
Writing 
 


 
 


M1 
 


A1 
B1 


 
 
 
 
 


M1 
A1 


 
 
 


E1 
 
 
 
 
 


OC1 
 
 
 
 
 
 
 
 
 
 


W1 
 
 
 
 
 


 


 
 
 
 
 
FT area only not perimeter 
Answer only between 900 and 1300 
obtains all 3 marks provided answer is not 
from perimeter.  
 
 
 
 
Award SC1 for answer of 800 (m


2
) from an 


estimate of 40× 20. 
 
Strict FT provided answers for both plots A 
and B are given AND at least M1 
awarded. 
 
 
 
 
For OC1, candidates will be expected to: 
• present their response in a structured 
way 
• explain to the reader what they are doing 
at each step of their response 
• lay out their explanations and working in 
a way that is clear and logical 
• write a conclusion that draws together 
their results and explains what their 
answer means 
  
For W1, candidates will be expected to: 
• show all their working 
• make few, if any, errors in spelling, 
punctuation and grammar 
• use correct mathematical form in their 
working 
• use appropriate terminology, units, etc. 
 


4(a)                      11  B1 
 


 


4(b) Attempt to continue the sequence 
in 2s to 27 
(3, 5, 7), 9, 11, 13, 15, 17, 19, 21, 23,  
25, 27 
 
                                          13 


M1 
 
 
 
 


A1 


Award M1 for correct diagram with set 13 
drawn. 
FT from part (a) if 9 or 13 given as answer 
to part (a) 
 


Answer in (a) Answer in (b) 


9 14 


13 12 


 
 
 


Alternative method 
 (27 – 1) ÷ 2 M1 


                     13  A1 
Accept embedded answers. 


 












Sticky Note

This candidate has shown evidence of counting squares in plot A but has not calculated the area of it. The area of plot B has been correctly found. The final mark for deciding which plot Mr Jones should buy with a reason stated cannot be awarded as the area of plot A has not been found. One mark for OCW was awarded.












Sticky Note

This candidate has attempted to find both perimeter and area but all calculations are labelled therefore marks were given. The area of plot A is correct but an error has been made in the long multiplication calculation for the area of plot B. The mark for deciding which plot Mr Jones should buy with an appropriate reason has been given as both area answers are stated and at least one method mark has been awarded. One mark has been awarded for OCW.












 


 


 



Sticky Note

The candidate has correctly found the area of plot A but has calculated the perimeter of plot B. As at least one method mark has been awarded and there are answers for both plots, the final mark has been also been awarded for which plot Mr Jones should buy and the reason why. One mark has been awarded for OCW.
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3.	 In this question, you will be assessed on the quality of your organisation, communication and 
accuracy in writing.


	 Mr Jones wants to build a new house.
	 He has found two suitable plots of land which cost the same amount. 
	 Each plot of land has space for his house and a large garden.
	 The plan for each plot of land is shown below.


Plot A Scale:  1 square = 100 m2


40 m


22 m


Plot B


	 By considering the area of each plot, decide which plot of land Mr Jones should buy. 
	 You must show all your working.


	 Give a reason for your answer.	 [6 + 2 OCW]


	


	


	


	


	


	


	


	


	


	


	


	


Diagram not drawn to scale
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4(c) No and explanation given  
E.g. 
 ‘You add on 2 each time.’ 
 ‘There are not 6 bulbs in set 2’ 
‘3 times 2 is not 5’ 
‘5 times 3 is 15 not 11’ 
‘double and add 1’ 
‘not multiples of 3’ 
‘× 2 +1’ 
‘if it was correct set 2 should be 6 bulbs 
but it has 5’ 
‘7 is not a multiple of 3’ 
‘2n + 1’ 
 


E1 
 
 
 
 
 


Allow: 
‘There is 1 bulb in common.’ 
‘There is some overlap.’ 
‘all numbers are odd’ 
 
Do not accept 
‘multiply by 2’ 
 
 


5(a)Cornell’s: 
(4 × £1.80 = ) (£)7.20   or 720 (p) 
 
 
 
Larkman’s: 
(3 × £2.20 = ) (£)6.60 or 660(p)   
 
(Difference =) 60(p) or (£)0.60 
 
 


 
B2 


 
 
 
 


B1 
 


B1 


If units are given they must be correct 
Award B1 for sight of 4 or 4 implied  
eg  
4 lots of £1.80 added  
Or sight of × 2 × 2 
 
 
 
If units given they must be correct. 
Do not accept 0.60p or £60. 
Allow £0.60p 
FT 'their £7.20' – 'their £6.60' correctly 
evaluated provided at least B1 awarded 
and Cornell’s greater than Larkman’s 
 
Alternative mark scheme working with 1 
litre 
(2/3 of (£)1.80 =) (£)1.20      B1 
(£)1.10                                  B1 
60(p)                                     B2 
(Award B1 if 10(p) given as the difference 
between 1 litre) 
 


5(b) (Radius) 15 (mm) 
 
 
 


B3 
 
 
 
 


 
Award B2 for 


 answer of 1.5 (cm) 


 answer of 30 (mm) or 3 (cm) 


 or sight of full method                
(70 – (20 + 20)) ÷ 2                      
or (7 – (2 + 2)) ÷ 2  


 
Award B1 for 7cm =70mm or 20mm=2cm  
stated or implied e.g. sight of 35mm or 
4cm 
OR 
Award B1 for full method but using 
inconsistent units eg (700 – (20 + 20)) ÷ 2                       
 












Sticky Note

This candidate has the correct idea about buying 2 and getting 1 free from Cornell's supermarket. They have only made an error with calculating 2 lots of £1.80. The correct answer for Larkman's supermarket is given. However, as the total for Cornell's is less than the total at Larkman's the final B mark for calculating how much savings there would be by buying the orange juice at Larman's cannot be awarded.












Sticky Note

This candidate has correctly calculated the cost of the orange juice at Larkman's but has mis-interpreted the deal at Cornell's as buy one get one free. The final B mark cannot be awarded as both totals are not given.












 


 


 



Sticky Note

This candidate has the correct idea of buying 2 and getting 1 free at Cornell's supermarket; however, they are confused with the number that they are buying. The correct answer is given for the cost at Larkman's. As the cost for Cornell's is greater than at Larkman's the final B mark can be awarded for the follow through answer.
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5.	 (a)	 Cornell’s supermarket sells 1-litre cartons of orange juice at £1.80. 


		  Cornell’s supermarket has an offer of ‘buy 2 get 1 free’.


		  Larkman’s supermarket sells 2-litre bottles of orange juice at £2.20.


		  Janice needs to buy 6 litres of orange juice. 


		  How much money would Janice save by buying the orange juice at Larkman’s 
supermarket?	 [4]
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4(c) No and explanation given  
E.g. 
 ‘You add on 2 each time.’ 
 ‘There are not 6 bulbs in set 2’ 
‘3 times 2 is not 5’ 
‘5 times 3 is 15 not 11’ 
‘double and add 1’ 
‘not multiples of 3’ 
‘× 2 +1’ 
‘if it was correct set 2 should be 6 bulbs 
but it has 5’ 
‘7 is not a multiple of 3’ 
‘2n + 1’ 
 


E1 
 
 
 
 
 


Allow: 
‘There is 1 bulb in common.’ 
‘There is some overlap.’ 
‘all numbers are odd’ 
 
Do not accept 
‘multiply by 2’ 
 
 


5(a)Cornell’s: 
(4 × £1.80 = ) (£)7.20   or 720 (p) 
 
 
 
Larkman’s: 
(3 × £2.20 = ) (£)6.60 or 660(p)   
 
(Difference =) 60(p) or (£)0.60 
 
 


 
B2 


 
 
 
 


B1 
 


B1 


If units are given they must be correct 
Award B1 for sight of 4 or 4 implied  
eg  
4 lots of £1.80 added  
Or sight of × 2 × 2 
 
 
 
If units given they must be correct. 
Do not accept 0.60p or £60. 
Allow £0.60p 
FT 'their £7.20' – 'their £6.60' correctly 
evaluated provided at least B1 awarded 
and Cornell’s greater than Larkman’s 
 
Alternative mark scheme working with 1 
litre 
(2/3 of (£)1.80 =) (£)1.20      B1 
(£)1.10                                  B1 
60(p)                                     B2 
(Award B1 if 10(p) given as the difference 
between 1 litre) 
 


5(b) (Radius) 15 (mm) 
 
 
 


B3 
 
 
 
 


 
Award B2 for 


 answer of 1.5 (cm) 


 answer of 30 (mm) or 3 (cm) 


 or sight of full method                
(70 – (20 + 20)) ÷ 2                      
or (7 – (2 + 2)) ÷ 2  


 
Award B1 for 7cm =70mm or 20mm=2cm  
stated or implied e.g. sight of 35mm or 
4cm 
OR 
Award B1 for full method but using 
inconsistent units eg (700 – (20 + 20)) ÷ 2                       
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6. (Rent increase) 15/100 × (£)720 
                               (£)108 
 
(Rent in October ) (£)828 
 
(Suzanna pays)   (£)276 
 
 
 
 
 


M1 
A1 


 
B1 


 
B1 


 
 
 
 


Must be a full correct method to find 15% 
 
 
FT 720 + ‘their derived 108’ correctly 
evaluated 
FT ‘their derived 828’ ÷ 3  correctly 
evaluated 
 
Alternative ((£)720 ÷ 3 =) (£)240            B1 
15/100 × ‘their derived (£)240’               M1  
                         = (£)36                           A1 
‘their derived (£)240’ + ‘their derived (£)36’ 
= (£)276                                                  B1 
 


7(a)                  57·5  (miles) 
 


B1  


7(b) Method, e.g. 4 × 230, 8 × 115, or 
equivalent  
                         920 (miles) 


M1 
 


A1 
 
 
 
 
 
 
 


FT 16 × 'their 57·5' 
 
 
Useful FT information: 


FT Miles 


55 880 


56.5 904 


58.5 936 


59.5 952 
 


8(a) 2 × 5.60 + 2 × 2.30 
                                     (£) 15.80 
                                                   (£) 4.20 


M1 
A1 
A1 


 
 
FT 20 – 'their 15.80' correctly evaluated 
provided M1 awarded 
 
Alternative: 
20 - 2 × 5.60 - 2 × 2.30                        M2                                       
 (£)4.20                                                 A1 
 
Ignore if working with both columns, but 
only award final A1 if unambiguous final 
answer 
 
If no marks, award SC1 for an answer of  


 (£)1.9(0) from including charge for 
Anton (under 3), or 


 (£)2.14 from incorrect column 
used 


 


8(b)  
(Adult extra 10% of £5.60 is £) (0.)56 
 
(Adult with extra 10% is £) 6.16 
OR 
(Adult pays too much by)  
  6.4(0) – 5.6(0) – (0).56 
         
(Adult pays too much by) 24p or £0.24 
 


 
B1 


 
B1 


 
 
 
 


B1 
 


 
Ignore units. (£)1(.)12 implies 56(p) 
 
(£)12.32 implies (£)6.16 
 
FT ‘their 56p’ provided 10% of £5.60 
attempted 
 
CAO. B0 for 48(p) 
If units are given they must be correct 
 

















Sticky Note

This candidate has calculated the diameter of the circle in mm rather than the radius.





















Sticky Note

Even though this candidate has only halved the 7cm they can be awarded 1 mark for changing units (cm to mm).





















Sticky Note

This candidate has no idea what is meant by the radius. They have only just added the 2 lots of 20mm given in the question.





















Sticky Note

This candidate has only halved 7cm. they haven't attempted to change the units so therefore cannot be awarded any marks.












(3310U10-1) Turn over.
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	 (b)	 The diagram shows a sketch of the top part of a 1-litre carton.
		  There is a circular hole cut out for the plastic lid.


20 mm 20 mm


7 cm


Diagram not drawn to scale


		  What is the radius of the circular hole? 
		  Give your answer in mm.	 [3]


	


	


	


	


	


	


	

















Sticky Note

This candidate has started using the alternative method so can be awarded the first mark for finding how much each friend pays. However, they have not gone any further with trying to find 15%.





















Sticky Note

The only thing this candidate has not done is to find out how much Suzanna will pay. They needed to divide the 828 by 3.





















Sticky Note

This candidate does not know how to calculate 15% of a value. They have only added 15 onto 720.





















Sticky Note

This candidate has used the correct method to find 15%; however, they have not used the correct place value with the decimal multiplication. They have also not continued to find the total amount for the rent in October and hence how much it would then cost for Suzanna.
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6.	 Suzanna and her 2 friends are studying at Aberystwyth University.
	 They rent a 3-bedroom house together.


	 The 3 friends share the cost of the rent equally between them.


	 In April, the rent was £720 per month.
	 In October, the rent is to be increased by 15%.


	 How much rent will Suzanna pay in October?	 [4]


	


	


	


	


	


	


	


	


	







